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int main|)

int days, vyears, weeks;

days= 1343;
years = days/ 365
weeks = (days

days = days- ((yecars*

printf ("Years: %d\n",
printf ("Weeks: %d\n",
printf("Days: %d\n",
retorn O;

365)+ (weeks*T)};
years) ;

weeks) ;

days) :
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int main()

float x1, vl, x2, v2,
printf ("Input x1: ™)
scanf ("%f", &x1):
printf ("Input ¥y
scanf ("%f", Eyl):
printf ("Input x2: "):

scanf ("$f", &x2);
rintf("Input ¥2: "):

(%]

scanf ("%$f", &y

distancebetweenthepoints;

distancebetweenthepoints = ((x2Z-x1)* (x2-X1))+((y2-¥v1)* (y2-y¥1)):

printf ("Distance between the
printf (™\n");
return 0;

two polnts:

BAEm;

sgrt (distancebetweenthepoints) ) ;

ion time
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b SRk = - T
1put first number: "):

o I I 3 BT R T % B T}

printf (™\I
scanf ("%f", &x):
printf ("\r
scanf ("%, &v¥):
printf (™ put third number: ");
scanf ("%f", &£=):

Input second number: ");

ution time
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e
% I =

3 if{x < (y+=2) L& ¥ <(x+2) &Lk =z < (y+x))
14 (P = X+y+2Z;
15 be formed™):;
16 = %.1f\n", P):
17 -

B |
18
18
20 rintf {"Hot possible to create a triangle..!™):
2k =

|

22 =
23
A
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Logs & others
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int age:;

int cnt_baby=0, cnt_school=0, cnt_ adult=0;
int count=0;

| while (count<20)

scanf ("%d", sage)
if (age>=0 age«<=4)
cnt_baby++;

& &

else if(age>=5 £& age«<=17
cnt_school++;

else
cnt_adult++;

count++;

rintf {"Still
printf{"5till
printf ("Adult
return 0;

%d\n",cnt_baby) :
%d\n", cnt school);
$d\n",cnt_adulc);

printf("Enter person's age [%d]:",count+l);

son

son”

son
person
person
person

person’
person’
person’

person
person
person

person’
person’
person’
person’

son

person

tion time
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int random genNo=0,
int =stime;

long Itime;

Itime = time (NULL);
stime = [(unsigned)
srand (stime) ;

random genNo=rand () %

while (1)

count+=1;

printf ("\n\nGue
scanf ("£d", snum

if (random genlo

printf ("Congratulati

break:

else if(random

else if(random
printf ("Generated number

if (count==T) {
printf ("\n
break:

retorn O;

count=0,num;

55 a number

yam) {

genNo<num) {

genNo>num) {

number f
numbe

number
numb

number fr
numbe

number fr
numbe
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exhausted your attempt, BAD LUCK

to 166: 4

than numbe

to 1ee:

o number

to 166:
r otk : nber

to 166: 188
than

to 1eo:

=5 than




